Republic of the Philippines Province of Davao del Norte Municipality of Braulio E. Dujali -oOo-

Date: August 5, 2016

Invitation to Bid No. 16-08-118

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

2nd Publication

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
300-16-06-081	Supply & Delivery of Food Assistance	100,000.00	Trust Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	Sack	Rice	35	2,000.00	70,000.00
2	Box	Noodles	22	580.00	12,760.00
3	Box	Tinapa	11	1,500.00	16,500.00
4	Bag	Plastic bag (large)	10	74.00	740.00
					-
		TOTAL			100,000.00

Deadline of Submission Technical & Financial Documents	August 16, 2016 not later than 12:00 o'clock noon
Chening of Rigs	August 16, 2016 at 1:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

List of Eligibility Documents are available during office hours at the BAC Secretariat Office, 1st floor, Municipal Hall. Bid documents with complete listing and specifications of the items for bidding shall be issued only to bidders upon payment of a non-refundable bid fee of Php 500.00 only

All particulars relative to the Eligibility Screening, Bid Bond, Pre-bid Conference, Submission, Evaluation of Bids, Post-Qualifications of the Lowest Calculated and Responsive Bid, and Bid Security shall be governed by the provision of existing laws, rules and regulations.

MBED reserves the right to reject any and all Bids, to waive any informality, and to annul the bidding process and reject all Bids anytime prior to the award of contract without thereby incurring any liability to the affected Bidders or any obligation to inform the affected Bidder or Bidders of the ground for MBED's action and accept such bid as may be considered advantageous to MBED.

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

ANGELINA P. TACULIN, RSW BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: August 05, 2016 Invitation to Bid No. 16-08-119

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-06-418	Supply & Delivery of Wet Suit to be used for search and retrieval operation and water rescue training	56,000.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	pcs	Wet suit	8	7,000.00	56,000.00
		Men- 6			-
		Women - 2			

			1
			-
			-
			-
	TOTAL		56,000.00

Deadline of Submission Technical & Financial Documents	August 16, 2016 not later than 12:00 o'clock noon
IC)noning of Rige	August 16, 2016 at 1:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

ANGELINA P. TACULIN, RSW BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: August 5, 2016 Invitation to Bid No. 16-08-120

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-07-449	Supply & Delivery of Construction Materials & Supplies for Construction of 2 Units Septic Vault at SBF & RHU at Government Site	111,111.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	bags	Portland Cement	88	285.00	25,080.00
2	cu.m	Washed Sand	4	420.00	1,680.00
3	cu.m	Gravel	8	480.00	3,840.00
4	length	10mmØ6m RSB std.	120	165.00	19,800.00
5	length	12mmØ6m RSB std.	66	205.00	13,530.00
6	pcs	Hacksaw Blade	15	110.00	1,650.00
7	pcs	4" CHB	1,100	12.00	13,200.00
8	kilo	Gauge # 18 Tie wire	6	95.00	570.00
9	pcs	4" Ø PVC pipe	20	420.00	8,400.00
10	pcs	4" Ø PVC coupling	14	70.00	980.00
11	pcs	4" Ø PVC p-trap	4	85.00	340.00
12	pcs	4" Ø PVC clean out	6	85.00	510.00
13	pcs	4" Ø PVC Wye	4	85.00	340.00
14	pcs	4" Ø PVC Elbow	5	140.00	700.00
15	pcs	4" Ø PVC Tee	4	140.00	560.00
16	pcs	4" x 2" Ø PVC tee	6	70.00	420.00
17	pcs	4" x 2" Ø PVC Wye	6	70.00	420.00
18	pcs	4" Shower Drain	4	65.00	260.00
19	pcs	4" floor Drain	4	65.00	260.00
20	length	1/2" Ø Eslon Blue Pipe	10	125.00	1,250.00
21	pcs	1/2"Ø Tee Pipe	10	15.00	150.00
22	pcs	1/2"Ø Elbow	10	15.00	150.00
23	pcs	Teflon	13	35.00	455.00
24	can	Solvent Cement	5	160.00	800.00
25	sets	Water Closet w/ Complete Accessories	2	6,500.00	13,000.00
26	sets	Shower Head	2	900.00	1,800.00
27	pcs	Plastic Faucet	4	150.00	600.00
28	pcs	1/2"x3/4" Angle Valve	2	183.00	366.00
		TOTAL			111,111.00

Deadline of Submission Technical & Financial Documents	August 16, 2016 not later than 12:00 o'clock noon
IC)noning of Rige	August 16, 2016 at 1:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

ANGELINA P. TACULIN, RSW BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: August 5, 2016

Invitation to Bid No. 16-08-121

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-07-448	Supply & Delivery of Construction Materials & Supplies for Improvement of Children's Park at Government Site	148,147.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	bags	Portland Cement	100	265.00	26,500.00
2	pcs	4" Concrete Hollow Blocks	478	12.00	5,736.00
3	mts	Aluminum Wire Screen 1/8"	5	108.00	540.00
4	lengths	10mm Ø x 6m RSB std.	78	150.00	11,700.00

5	kilo	G.I Tie Wire # 16	6	85.00	510.00
6	gals	Chocolate Brown Enamel Paint	5	685.00	3,425.00
7	pcs	Paint Brush 2"	6	40.00	240.00
8	Gals	Epoxy Primer w/ Catalyst	2	798.00	1,596.00
9	pcs	Steel Brush	6	60.00	360.00
10	pcs	Hacksaw Blade	20	90.00	1,800.00
11	pcs	1/2" Ø x 6m Square Bar (STD)	170	520.00	88,400.00
12	kilo	N55 Nihon Weding Rod	50	110.00	5,500.00
13	pcs	14" Ø Cut-Off Saw Blade	8	230.00	1,840.00
		TOTAL			148,147.00

Deadline of Submission Technical & Financial Documents	August 16, 2016 not later than 12:00 o'clock noon
IC) NANINA AT KIAS	August 16, 2016 at 1:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

ANGELINA P. TACULIN, RSW BAC Chairperson

Republic of the Philippines
Province of Davao del Norte
Municipality of Braulio E. Dujali
-oOo-

Date: August 5, 2016

Invitation to Bid No. 16-08-122

INVITATION TO APPLY FOR ELIGIBILITY AND TO BID

The Municipality of Braulio E. Dujali invite duly licensed bidders to apply for Eligibility and participate in the Public bidding for the following item.

PR NO.	PARTICULARS	APPROVED BUDGET COST	FUND SOURCE
100-16-07-446	Supply & Delivery of Mountain Mixed for Improvement of Public Cemetery @ Purok 3B, New Casay, B.E Dujali	199,800.00	General Fund

STOCK NO.	UNIT	ITEM DESCRIPTION	QTY	UNIT COST	TOTAL COST
1	cu.m	Mountain Mixed	444	450.00	199,800.00
					-
		TOTAL			199,800.00

Deadline of Submission Technical & Financial Documents	August 16, 2016 not later than 12:00 o'clock noon
ICINANINA AT KIAS	August 16, 2016 at 1:00 o'clock in the afternoon at Conference room, Mayor's office, this municipality

For inquiries, clarification and more information, please call contact:

Ms. ERMALYN C. BONSO-GANOTISE, MPA BAC -Secretariat designate Cell # 09066561448 email add: justmacky143@yahoo.com

ANGELINA P. TACULIN, RSW BAC Chairperson